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oW Imany s

we use for Control Charting? Use ZERO!

How many standard deviations do we use for upper (UCL) and lower
(LCL) limits calculations on a control charts? 3?7 1?7 What about 0 st.
dev.!? Indeed, the simplest way to build MASF data for exception

detection is to use 168 weekly hours averages as a baseline, so that
would be the case when ZERO st. Dev is used to make UCL=LCL!
Plus for further simplification the current data could be included in
wider historical baseline (Why not?). My EV meta-metric in this case

would be just difference between actual metric value and the average
ine!













